‘Dhand" in the Thar Desert ?\{ A narrgy, belt of pebbles dePO.Site.d by ererf
) rtesian Basin Paralle y,, the slopes of the Shivaliks is known as
(B) Playa i, desert ' (A) Bhangar (B) Kankar
(©) Oasis (&) Bhabar 4 (D) Terai
) Depression in crescent dune

. B o SRl g faeTY T dE e
T ¥ gty 35 o 4 A e o 7 %m%mqﬁ!ﬁm

T 9w & -
:g‘; IR e (A) 'q'mm (B) @iwT
O ¥ e (©€) wry (D)
©) “afmam
(D) = ST &9 F \ﬂ The process in which a carbogatef c;re :anl:z;:eﬂ
, Wk Strongly in presence of limited air to
\z\ B S ¥ o § fear ¥ - INto metga| oxride is called -
(A) ot Ry (B) -murg (A) Calkination (B) Smelting
(©) @i fp (D) wwdw fmar - . (©) Roasting (D) Reduction R
' T | prET orawh Bl Uy SHETES
A, Whatis reason of frequent occurrence:of drought W;gg{qﬁ:; 2 g saRafy ¥ goar & ™ fE
and famine in Rajasthan? . . ST & 3 _
(A) Soil erosion '
(B) Irregular rain ) () P (B) Rt
(C) Deforestation ' ) wi (D) o9EE

(D) Irrational use of water N
TTEH ¥ a-a o U6 q@ &1 7 S &2

Population of a city is 1 crore. If number of live
(A) 1 &1 T . | birth is 85 thousand, the Birth rate is - ;
(B) arfrafrg aut ' ; U €T it e | s ¥ Atk i a= Riged
(©) = & werd : @ T 85 T ¥, q9 o AT & -
(D) v & iyt swdm (A) 85 (B) 0.085
(C) 0.85 (D) 85
4  Lithium carbonate gives on heating —
(A) Li & CO, (B) Li, C & CoO, T Charcoal is used to remove colouring from pure
(C) Li,O & Co, (D) LiO & CoO, substance. It works by
fafram Frate mf & o LR (A) adsorption (B) bleaching
(A) Li s CO, (B) Li, C sk CO, (C) oxidation (D) reduction
(©) Li,0 st CO, (D) LiO i CO, A e & 6 P 3 R s P s
. _ ¥ W fow wme % a B war 27
& How many n?i'nlmum meetings of Gram Sabha are (A) afrsirer (B) firter
compulsory in a year? .
T A B Th A F Rhal g dob v 37 (©) st (D) srregm
(A) 4 (B) 5
) 2 : (D) 3 \g A person buys pens at the rate of 11 pens in 10
* . and sell them at the rate of 10 pens inX 11. What
6~ Who is author of Amarkavya Vanshavalj? is his profit in percentage?
(A) Sadashiv Bhatt (B) Ranchhod Bhatt Th A T 10% 11 9 @ ax @ T wlea ¥ e
(C) Jeevadhar (D) Jagjivan Bhatt RINFI0W\ A T ¥ | Sww iy whis
SETHT AT BT e B ¥ ? | Aat?
(A) wafi wg (B) B wg (A) 11% (B) 21%
(C) shamerx (D) sl wg (©) 9% (D) 10% .

Hvs2 | ) 2
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Y} There is a definite relationsh;

problem figures. Based op sa
choose the correct answer ﬁgure

W%WWH@WWW%%W?&
Problem Figures / wen sty T B

G|

() In (11D (1v)
Answer Figures / 39y SR

G @ (B) lo o
o /\

On March, 2022 Yogi Aditya

in as the Chief Minis%er of 8,&::1 lt’]:a}:izss}:) :‘zr si‘::;z
straight term. He is the CM. of the state.
(A) 29th (B) 30th

(C) 318t (D) 33rd

ard, 2022 ¥ gnf mﬁmu%mgﬁm%
ferq 3T ReT & gl & w0 N s ) o g
et §)

Cen ﬁl‘st two
rela‘ionship

(D)

(A) 29 9 (B) 309

C) 319 (D) 33 9

Guindy National Park is located at

(A) Chennai (B) Mumbai

(C) Bengaluru (D) Kolkata

TR g s ¥ fea ®

(A) ¥ (B) i

(€) ¥mqe (D) e ]

Which of the following is different from others?

(A) Triangle (B) Square
(C) Cone (D) Circle
Fra & @ & @1 =g @ P 87
(A) Pryet ¢ <J(B) @
©€) g O(R) kA

HVS2 | €

\m A 14 years old student is not able to see clearly

the questions written on a black boarg placed at 3
distance of 5 m from him. The studeny is gy ffering
from which defect and to correct vision of his
eyes, what type of lens should he use?

(A) Hypermetropia, Concave lensg

(B) Hypermetropia, Convex lens

(C) Myopia, Concave lens

(D) Myopia, Convex lens

T 14 7t o Ryl 3™ TTw 9 R g gt @y
59 3 gl & W% T TG U1 ¥ Ry fpg 3y @
¥ oRa t @ R T X U D o g s
HT B ?

(A) R 3fe Ay, sraa dF

(B) W 3Re 3w, Iuw «F

(C) Frae gfe 2w, saaa @

(D) e 3fe A, sTw

The beneficiary group of Rajasthan Shubh Shakti
Yojana is -

(A) Women business persons

(B) Girls and women of labour family

(C) Startup owners

(D) Street vendors

TSI Q9 fed Qe &1 aTHIhad W ¥ —
(A) wfean =mrd

(B) gt afart & wsfeal 9 wfeand

(C) wréam gwngs

(D) Fewra fagsan

The Jain Granthas Harivansh Puran and
Kuvalyamala were composed during the reign of
Pratihar ruler .

(A) Mihir Bhoj (B) Mahindrapal 1

(C) Vatsaraj (D) Rambhadra

WHER Tod ___ F e @ § 9wy

TG T FawEETr @ @ gl
(A) fifer W= (B) wAfezum wam
(C) T (D) R

Reliance Industries Limited will develop India's
first Multi Model Logistic Park in -

(A) Tamil Nadu (B) Rajasthan

(C) Gujarat (D) Karnataka

mmmmmmummm

mm;—ﬁmmm|
(A) dftreg (B) TrewRa™
(©) T (D) e

[ Contd...




30 Cmnamon is obtaineq from which part of the plant?
' (A) Leafr (B) Flower
(€) Root (D) Bark
TR, TR 5 P @ et A B2
(A) weh (B) F
©€) we (D) ®
21 Fatty liver g present in - \O
(A) Scurvy (B) Pellagra @
(C) Marasmys (D) Kwashiokkdr
O T B ¥ - ™
(A) =t 3 (B) ¥amm § O\l
©) @ o § (D) wfrrETl
22 Fill in the blank with the correct opfioh.
\ The teacher taught us that the eanfy

round.

X

x

8
o =
(A) ‘was (B) are |
©) is (D) were o)
™\
\ZQ Which one of the following trees is rj ]source of
gum in Rajasthan?
(A) Salar (B) Khair
(C) Teak (D) Dhokra fﬂ
ﬁ%qﬁﬁﬁmmqamﬁ%%m
BT B § 7 oA 20,
(A) @ w) w D A
(C) "™ (D) et (CQ

In which of the following distriét\s\]

construction?

™

(A) Sikar (B) Ganganagar

(C) Bikaner (D) Churu N
ﬁwﬁtﬁaﬁﬁ%mmﬁms‘m}ﬁ)mwaﬁ
widter s P 2 7 .

(A) €y (B) Ay

(€) it © T

Chambal Project is a
(A) Rajasthan and Gujarat O
(B) Rajasthan and Madhya Pradesllh

(C) Rajasthan and Haryana Ty
(D) Rajasthan and Punjab

e g B o oy
(A) T 3T o

| Maharao
Shekhaji Armed Force Training Academy is under

Joint venture ofstates of :

W W b, 4 %
N

DN

(A) (B) &0t

(€) =gz (D) wrggT

Golden rice was produced to reduce the deficiency
of among people. .

(A) Folic acid (B) Magnesium

(C) Vitamin B, (D) Vitamin A

YT T T an A @ HH B
A & fo frar

(A) wifers anq (B) ifirgs

©) foafm &, (D) fqafm g

How many districts are desert districts jp
Rajaslhan? .
TSN & e & @ Rped Forel woeaed § 7

(A) 12 (B) 13

©) 10 (D) 11

Which state sent military help for the assistance
of the Maharao of Kota in the freedom struggle of
18572 '

(A) Udaipur (B) Karauli

©) Jaipur (D) Jodhpur

1857 & Tcisran g ¥ FeT WA B GEddl & fim
59 g 3 v wermar w7

Go through the following poem and answer the |
question given below:

. O Rose thou art sick,
The invisible worm.
That flies in the night
in the ha/ling storm:
Has fouFd_out th?bed

~
of crimson joy:
And his dark segret love
Does thy life ,de\stroy.

What does the 'worm' symbolize here?
(A) Howling storm (B) Death and decay
(C) Secret love (D) Life and beauty

How much percent is 200 ml of | litre?
| foret & foba wiyerg 200 forefy ¥ 2

(A) 20% (B) 200%

(C©) 0.2% (D) 29%

Choose the correct option.
Tenders should be written in g Ianguage that is -
(A) stylish

(B) brief and to the point

(C) roundabout 5 lengthy

(D) informal

[ Contd...



If the volume of a right circulg, )

Shtis 12 m. The diame,. M€ i g
and height 1 ¢ diamegg, of (hs 167 m3 N§7  The members of Legislative Council are aPF’Oi"ted
(A) | m. (B) T m ¢ base is -

. D) 2, through -
© ) mﬁxaq?ﬂ'a : { = M, () Direct elections
o 0@ -~ m:n@ = ™ 16 n L% ——_— (ID) Indirect elections
12 # & BT § - RS (111), Nomination
A 1 (B) n A () and (1) (B) (1) and (1IN)
© 4% (D) 24 (C) ) and (I1) (D) (1), Iy and (I1)

) fquls : % gedl & YA fan wm ¥ -
[n order to get a diminisheq, virt 0 L e s
image. the Obj";]‘itirﬁa“ be placed an)':?\lefen?n f‘rem ' (Il)('%&?ﬁgmm g
of 8 ——— MIITor. ront w .
) g

A) plane _ 5
tB) either concave or convex A B?R (m (B) (1) 3ir (1
(C) convex (C) () 3T (1) (D) (D). (1) s (1)

(D) concave : N . )
(=) &1 BreT, s " Trah&drmation of input into output is performe
frd @] T W Sy g \3§ ,

W U H S by €Y

z:m%gl T I RATma | (A)LEPU
(A) T _ (B)(ﬂ?ﬁe. input-output unit | |
(B) & q AT AT IT ‘ Eg(ilgpnspheral_s - |
O - e ¥ oy ¥ ofead P @ B ¥ 2

' ' (A) (WA,
The bacteria E. Coli responsible for diarrhoea are: (B) (32 ~ oMrecge =R
(A) Gram neutral (B) Non invasive (OFs isag
(C) Gram positive (D) Gram negative (D) &y TE.
T & frd ST §. BTy S wd ¥ (N
(A) TH SIEA (B) 1 Fafya 3\ In hosy many districts of Rajasthan Tribal Area
(C) ™ gD (D) 1™ FHTHS Develgpment Scheme is being implemented?

o™ % fra fyel ¥ weeIg & faem @i wrp

Which of the following bird is linked with B Y 37
\Thosphorus cycle? . (A 4P (B) 12
A) Pigeon (B) Humming bird ©)¢$y (D) 8
(C) Guano (D) uKingﬁsher L) _ . :
frfefaa & @ B @1 9E HIEHRE T @ TF }4}}) Undeg which Article of the Indian Constitution . ]
wWE? ' : the Gavernor can reserve the bill passed by the
(A) &g (B) @ . legi%clg':re for President's approval?
() Y (D) febmifRert - (A)" Rtticle 213 (B) Article 200
(C) Article 256 (D) Article 257

. i : d Aman o
K Ina row Roma is eighth from thlfelvegt?:changed wfabie) & frw ogede ¥ deq oAU faU Husw

xman becomes T e e s @ ey B Wty ¥y geim

their places among themselves, then

: 1| be Roma's 27

eleventh from the right. Then what will be ! \

position from the left? | (A)(‘@fﬁfﬁ 213 (B) 31g=5e 200

(A) 12th (B) 13:h‘ (C)(:ngiﬁﬁ 256 (D) ergesy 257

(€) 1ot (D) 11 : ot _ .

iR i amedi & adl o ard | Chdose the correct antonym of the following word ,

T tfers Ty At of @ e W |

¥ et ¥ o 3 e § O @M T @ from the options given below : \

%ﬁmmﬁmémﬁm%lﬁ Encourage ; &

W qriy am? (A) incite (B) p?rsuade |

(A) T;ﬁafm Rl (B) 13 al ' (C) aid (D) discourage

©) 103 (D) 1
5 [ Contd... ;i
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: f Rajasthan was -
N e i the sy input, process and output af¢ (T/:; fI"<rsst qu:yum "(B) M.D. Kaurani
nown wiyy, Certainly, such system is called : -S. Sidhu D) K.P.U. Menon
(A) pl'Obabilistic ' (B) Deterministic (©) 1.D. Dya (& _
(€) Open (D) Close TSI & gom Ay 4 ¢ . @
m@““nrv?tﬁsqu,gﬁqamgzﬁﬂﬁ‘{& (A) ¥ fog (B) . e
TE 3 3, 3 (D) %97
& TRl e : €) w2 gan
(A) Ty (B) Praarem / . —_—
© S (D) it 48 “Zero Hour” in Indian par||amentary 4
implies the - . . .
\Q i oKup function used to : (A;) ti?ne :Ilotted for informal discussion between
gg)) l(-“:hed( if two cells are identical two stages of discussion on a bill.
ind non re| ted records > . iscussion on
Eg; Find relat:,fj ?.:co,-r;c iy (B) :p(eimﬁc time allotted for a discu
Looks up text that contain ‘v udget. - ‘ .
VLOOKUp vrsjas: amfa F@E (€)' time between question hour and ne)r(:xi::mag; |
() 2 4% 3 v e o e & £1G St it g o hair
gy (B) & Py I o Fatd goar & matter without permission of the chair.

o : he question hour ends.
©) P TS Fears o ¥ (D) exact time when the q a7
(D)HBQTE:?E\WI%W‘V’% ’ Waﬁmmrsmm.wammm f

A &) Rl e et 3 2 ool % e aFETRE
k.7 Which one of the following is wrongly matched? Tt & fao arEfeq THq|
(A) Khedapa - Ramdasji (B) swz v waf ¥ fu smefea fifire @wa)
(B) Singhthal - Harivanshjj (©) 9% & 9k HrigE B omreh wE F drq BT
(C) Ren - Dariyavji ' a2 ¥ o B
(D) Shahpura - Ramcharanji S HEF-I OTAE @ S
.ﬁw%ﬁgafféﬁqmwgwmgﬁha%? forva gam ¥
(A) Qe - IMerEsh (D) =& 3% wvra v wew @i wwTE rar B
(B) Rizus - efesrsh .
(©) 1 - afamsh ; M9 Which blood type is a universal donor?
(D) swEgq - o ﬁammmvﬁﬁ%mﬁm%?
: (A) AB™ (B) AB*
45 In which medical college of Rajasthan, Institute (C) O~ (D) ot
of Paediatrics and Neonatology will be established? :
(A) JK Lone Hospital, Kota Y F inter Sahi .
‘(B) JLN Medical College, Ajmer SQ o?n;:il;sti[:]agl;l er Sahibdeen belongs to whlgh school
(C) SN Medical College, Jodhpur d ‘
(D) SMS Medical College, Jaipur Eé)) ll\)d:l::;har Eg; Q‘:ar
TR & fow e afdw 3 qvs Vg
ProirIeio e 1 e @ o 2 m'a;‘f" e R 1 R gk
(A) 9%, 9 erddies, Frer “"'"‘“_ v
(B) A.GH.. dRww wiw, s (A) ®R (B) arra
©) o, Aewa s, wragT (©) #ams (D) #rams
D) worw. Aeay Fiets, TEYT g .
_ S ‘Chhapgan Plain’ i situated ip between -
M6 Which of e following forts is awarded “Best (A) Chittorgarh ang Pratapgarh .
destn]atlon in India Silver Qyglook Traveller Award, (B) Pratapgarh and Banswara
20227 (C) Banswara anq Kushalgarh
(A) Kl}mbhalgarh (B) Ranthambore- (D) Banswara and Dlmgarpur
(C) Jaigarh — () Hawamaha| B B A R 3
ﬁw%@aﬁﬁhﬁéﬁﬁg %R'%Rz-.\mgqs‘%m (A)Wﬁaﬁrm%ﬁa
mm@mmzozz'%mw? (B) TS St i
A) PTG (B) Torami Lo U SRR %y
( - (©) TEXT A oty 35 g
S b (D) SISt S ey % g
Hvs2] ) 2 | |
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) The average of 8 consecutjye inte

is the average of first three inte

g FTE QU & oy 23

2
ofea | E?
(A) 9
© 7

Bers i 23

- Wh
Ber) 2 at

By
qq%“{"ﬁﬁaﬂ

(B) 19

(D) 3

Which place is famous for black
(A) Sawai Madhopur (B) Chittor, a

(C) Jaipur ‘ (D) answfr;h

ae P8 & T % Rrg ai g T S
(A) T TG (B) gy T B2

(C) WYX (D) Siwarg

& Which Rawat (Noble) had given
Charan during the 1857 Revolt?

Pottely';

shelter to Bhjm;i

(A) Ranjeet Singh  (B) None of these

(©) l;e;nélgs%ngh (D) Jodh Singh

1857 TG Al | 3y fog

J 9o & Ay ? ’(T:m )
(A) T"ﬁﬁaﬁrs (B) 7% ¥ o w3

(C) »uifys (D) <rufie

NS The rate at which information is
communication channel -

(A) Nano rate (B) Pixel rate
(C) Baud rate (D) Bit rate
WHEHTA & GE wreay () W A B W (=
HeAT &~ '
(A) ¥ =
(C) sz =

transferred in a

N

.(B)ﬁrﬂmiz
(D) f&e e

‘ 36) The ornament bajuband is worn on

(A) ‘Ankle (B) Waist

(C) Chest (D) Arm

T ST 5 g e ¥
(A) z& (B) &9Y

(C) s= (D) g

Which of the following is not one of Power Point
view? ;

(A) Presentation view (B) Oulline. vieEW

(C) Slide show view (D) Slide view

Pt & & @ ety o T ¥

*

§% An aggrieved person can file a writ petition for
the violation of fundamenta] rights in :

(A) Supreme Court only

(B) High Court or Supreme Couyrt
(C) High Court only

(D) District Court only

Hiferes sl 3 & TN T g s ez i
U9 BT HHar T :

(A) %aw Ieaam aE@ed §

(B) =9 <o @1 I Ty
(C) 9w s=a 4w ¥

(D) %aw faen =araerd ®

{

\

Which function is used to calculate_ remainder in
MS Excel?

dT%e (Remainder) ST & % faw g T o
BT W Gy WM F oY ¥ ?

(A) INT() (B) FACT()

(C) DIV() (D) MOD()

}u‘\ By which other name is Tartai Mata known, whose
temple is located in Talwara (Banswara)?
(A) Tripura Sundari (B) Aawri Mata
(C) Gajlakshmi (D) Mahakali
- ard wra fvge wfeR qeEret (e ¥ Reg i,
% 69 ol A ¥ o s s &7
(A) Prgu g=d (By smadl wwm
(C) “wwsh (D) wWemmmn

\@2 Choose the most appropriate technical translation
of the following word :

Circular
(A) qftm (B)  Afew
(C) uftas (D) g

%

Choose the correct alternative which can be
substituted for the given sentence :

The period of life in which a person is old and

weak ”
(A) Senility (B) Superannuation
(C) Dotage (D) Impecility

The excavation work of Ahar was accomplished
under whose leadership?

(A} H.D. Sankalia (B) B.B. Lal

(C) V.N. Misra (D) V.S. Wakankar

HAES & IG B fHed Aga d wiia gon ar?
(A) wd. wefm  (B) & ww

(C) &wm. fam (D) HN.uq. IVt

}\

(A) ¥Ry o7 (B) smeeeET F
€) sz g (D) wEs F
e T § w8 freim o T 37
(A)?ﬁ—m " (B) fftr -y
©) s -gfm = (D) -

HvS) ] O

-
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S

.

ssUBORDINATE- B O I
(A) g {5} s
©) 3w gw (D) st

Any kind O{Myner generally ends with :

(A) Subscni\e_t‘jon (B) Heading
(®) Saluta@q (D) Signature
Choose the_rLQr;Tect preposition.

He took ages\’ the job.

(A) henea (B) of

(©) over (D) above

(A) Platel@
(B) Lymp?‘cf' tes
©) Whiter'.B ood Cells
(D) Red Brlp\"d Cells
Rh :qn;sw SR &5 R
(A) o |
(B) formrgey
(C) @3 sfrtymw
(D) wm& sfa¢)sor .

N

%) gaE

In which distct of Rajasthan factory of Havells
India is located?

(A) Kota ) (B) Jaipur

(C) Alwar'\® (D) Ajmer

T ¥ el Ry, ¥ Hvw s bt R &7
A) g L) (B) g

©) aiﬂar(r:} (D) s

How manﬂ)embers are nominated by the
Governor in _the Legislative Council of a State?

+ (A) 172 of tht total membership

(B) 1/4 of e total membership
(C) 1/6 of the total membership
(D) 1/3 0 '_tyhé total membership
mmf‘, ! foem ofveg & feay wae gt
oy o 7
N :
(A) ge@l E\f?r]gﬁ &1 &1 1/2
(B) wewl @ o q& F 1/4
(©) qedl &) el q&gr a1 1/6
(D) wewdi & g e @ 1/3

nvs2 1 )

.0y ~
Rh factor '§ @ antigen situated on the surface of

75

(A) 1521 cm? B) 1927 cm? |

(C) 9%6n cm? (D) 1007 cm2 |

16 & g lzwgmaﬁavﬁﬁxeh R

. Hd & 9ia: s

ga diar T %lqamésrcaam%? !
- (A) 1527 a2 (B) 1921 a2
(C) 96 & (D) 100 a2

[ Contd... |

: The first Chicf of Defence Staff (CDS) of Indj,

General Bipin Rawat was posthumouslylconferr@
with whij 2 '

(A) A:}:z::g;:;im (B) Padma Vibhushan
(C) Paramvir Chakra (D) Padma Bhushan
A & g i ot 5%@ @6 (CDS) I fafty
T B gy g @ 4 @I R
(A) a5t @ (B) wgA fergam

() T 7% (D) 7§ T

Which is the rank of Rajasthan in India in termg
of population in 2011? ' 1

(A) 12t Rank (B) 8" Rank
(C) 24th Rank (D) 27 Rank

39 A P T @ gite & T &1 2011 ﬁ'a;h
HT E? ) l
(A) 124 &9 (B) 8di #9

(C) 24 9 ww (D) 27 @i ®9

Frifhd & @ R geard TeU (TR) ¥ wahE
forar s 2 '

(A) arftrgae
(C) fafer

(B) TE®
(D) IECE

What is function of Rural Non-Farm Development
Agency (RUDA)? '

(A) To develop educational institutions

(B) To provide electricity in villages

(C) To develop agriculture

(D) To develop Non-farm sector '
A =P Ry iftror (&S1) &1 w1 ‘Bt 27
(A) farar sl &1 Ry -
(B) TRl ¥ oty geren
(C) 3N &1 fywm ‘

(D) M-3R &5 &1 Ry

A circle circumscribes rectangle with sides
16 cm and 12 em. What s he area of the circle?




i

¢ of Microsoft clip galj
(l?f;lgto add clip art pictu%es R
(B) to remove slide
(€) 10 add word art
(D) 1o spell check
cearare fee ATl @ v
(©) ¥ 9 T F fg
(D) ad A5 T B ﬁﬂ'l{

which of the following en;
-molecular scissors’ in biotech;
(A) Hydrolase

(B) Restriction enzyme
(C) DNA ligase

(D) Polymegagq_
freffad & |1 GSEH N e & -

54y e & ? . ‘ A o
(A) TS

(B) Wiy G (g o)
(C) Ay WA
(D) W

Ymes ar

€c
IOIOgy? C called

| (A) 1040401 »
| (C) 1020201

(B) 1050501

Np) 1030301

79 In which state of India 68" Nehru Trophy Boat
Race was organised?
(A) Karnataka (B) Andhra Pradesh
(C) Tamil Nadu (D) Kerala
W % few o ¥ 6841 e Fwr AR () @
AT Hr TS v ?

(A) HteH (B) oY qad
(C) aftyerg (D) &
b‘& Where is the fort of Achalgarh situated?
(A) Mount Abu (B) Alwar
(C) Ajmer ~ (D) Jalore
e g Hel Rad § 7
(A) "z arrg (B) @l .
(€) oMz (D) SR

\ If the altitudes from two vertices of 2 t_riangle_ to
the opposite sides are equal, then the triangle 1S -
(A) isosceles (B) scalene
(C) right-angled (D) equilateral

% O Freger ¥ 2 frl @ g oSl TS T T
A, By ¥ -

(A) wefearg (B) fawmeTg

(C) wwar (D) @ETg

w1 O

- (©)

82 For what value of 7, (x+g4) is a factor of

(x"+a"‘)?

(A) Only for even values of »
(B) Only for odd values of n
(C) For all values of

(D) Only for prime values of n

%:;m@wm (x+a)s (x"+a”)3!qasgum§"3

n &_had 99 Al & R"l(',
0% aw faww @ & fag
0% el e % g
n Sl am e WA & g -
QN
Choose the correct option for the Passive
constraetjon.
Everyqu calls him a peacemaker.
(A) Hg'is called a peacemaker.
(B) Evetyone is called a peacemaker by him.
(C) Afpeacemaker he is called.
(D) He'js called to be everyone's peacemaker.

(A)
(B)

(D)

2024 Su\l mer Olympic Games will be hosted by-
(A) MoScow (B) Qatar
(C) Tokyo (D) Paris
2024 % 4 TRy T Y ASTEE B BT ?
(A) =it (B) @@
(C) & (D) fw

L

Partisanglections for Panchayati Raj bodies was
recommended by - ’

(A) /K. Rao Committee

(B) Sadiq Ali Committee

(C) K. Santhanam Committee

(D) Ashbk Mehta Committee

AT X genel & Wy ol frataw @ srgerE
B A "

(A) Sd.®. T wifa

(B) wrieg o wiif

XC) & Furm wifa

(D) GI\& e giufy

Choose the correct indirect form of the given

sentenc€ )from the options given below :

She said) "We were thinking of selling the house

but w ve decided not to".

(A) S e)said that they thought of selling the house
by‘g decided not to.

(B) She’said that they think of selling the house
but-had decided not to.

(C) Sfte)said that they have been thinking of

selling the house but had decide not to. *

(D) She said that they had been thinking of selling

the house but had decided not to.
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~88\ ‘Kailash Sap

2(aq) + Na,s0 4(aq) ~ B2SO4 é)+ 2NaCly) 18

€Composi; i
(B) ¢ ! 10n reaction

Ombinat; i ‘ . . Pollorat
) Do o 1 T% Yt s coe e e it llowi
(D) Double displacement reaction ‘ er series? ‘ am' ST I T A ;

4(aq) (s) 3 K, L) 0,G P
v y vy M’ L N’ H" AN
T S & (A B) F y
(A) ¥ o | |

B —_—— © Q DF B, G ‘
(B) o siftfsar g .. | | ;
(©) Rreme s & 9%

: iV
khala’ was associated with. -
(A) Tiger conservation

(B) Black deer conservation

(C) Snake conservation

(D) Bishnoi caste

BN Wrawr gty & -

(A) s g @

(B) =@ for wewr @

1 ;
(C) w9 wew § Q) =53 (}3) f=v+u E
) ﬁﬂ:ﬁé Aty % ‘ 1 1.1 1 1 1
T8 frw o - agghg ¥ © 7 O 7y
: (A) T (B) aw@mm - - . -
(C) wautx (D) =Rty 93 Find -the missing number. .
< FE T B *
‘90§ Ctrl +Y is used to ; 16 IX( 18 9 4 25 4 12
(A) Redo or repeat last action "77\ \ﬁ’? y
(B) Undo last action 3 Ll / &V B
- (C) Align a paragraph 4 Bel 2 s
. (D) Close a document < 96'1\5 ;
Ctrl + Y &1 s fear simar & - (A) 22 (B) 24
(A) ifm frar @ fedre o w0 % B © 19

(B) afm fpan gdaq & & frg
Q) T e s@ F g
®) T @R B W F & fig

N9y In aquatic ecosystem, the limiting factor for

productivity is

(i3) soil

(A) air
(C) light (D) water
% wolg qIRA ¥, IAEHA B S B
]
(B)
(A) T3 (D) =

(C) wary

nvs21 O

\

\96\ Who is widely regarded as the father of the India's

2 %'mﬁmﬁawm;ﬂ?'
A) s | (B)
©) wiug .| \p) W

Tllle lens formula in Cartesian coordinate systen

is - |

where, 4 = objeét distance from optical center
v = image distance from optical center |
f = focus distance from optical center |

Fita Fréstis o F dw B G § - ‘

- W, u = e %2 @ fea @ gl f-

space programme?

~ (A) Dr. APJ. Abdul Kalam
(B) Dr. Panchanan Maheshwari
(C) Dr. Homi Jahangir Bhabha
(D) Dr. Vikram Sarabhaj

m%ﬂmaﬂﬁﬂm%m

. 6wy s 27
(A) = TS, srgw wam .
(B) 3. WOFH wARygd
(C) =t B i sy
(D) ®1. T g
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I

& where did Chief Minister As
ndatiOﬂ stone of Dr, Bhi ok Ge
(fj):iversity on 16 N°Vemb;;m2’a° A"‘Ilzlezl lay the \{)3 is a process of translating a task into 2
(A) Bagru (B) ’K'022? kar Law series of commands that a computer will use 0
(€) Alwar i D) Jc:sll:a"garh perform that task.
qa=y, 2022 ; Pur (A) Coding ’
?lff6 S CNCRCIES T %‘%I ?ﬁ&h KT o 3 (B) Maintenance
Eﬁ w@r? B SR (C) System Design.
A) w0 K .(B) o (D) System Analysis
(c)aaa“(if (D i 5 ¥ @aﬁaﬁ&ﬁsﬁ&%mr‘f@mmﬁ
( ) Sy & T whea ¥, R R 90 A 3wy % fC
¢ From the top of a cliff 150 high Suam ﬁ_"" .
depresston of two boats are 60° an d’ 3“‘3 angle of (A) iﬁ‘Tﬁﬂl
the distance between the boats if ¢ 0°. What is (B) ¥ (vaw@m)
the opposite sides of the cliff? ©boats are on|  (C) frem fear
(A) 20043 m B) 200 g - (D) fyeew fygawor (grTfefw)
© 50‘6 m (D) 100J§ m ‘ Which colour of light deviates maximum in Fhe

150 . S TEE M F @ A
60°w30°%|ﬁ%m@m§u§“m?m
¥ faola Ram & %7 g

(A) 20043 .
(C) 5043 .

(B) 200 #.
(D) 1qu§ A,

‘FETES I & WU U wde gmgig ¥ -
(A) &MT ¥ T €W A

(B) aneiaeT & 4y

€ W& o=

(D) w&® FHH are
l}kf*ﬂmﬁ'ﬁ"ﬂﬁaﬁaﬁ’dm%?

(A) fewrea "(B) fmmn

€) m™ (D) &=t

W%wmmﬂmﬁmmm‘
(A)w—émﬁ?wrw |
(B) BWT qT §& T &

C) #rs @1 Iy B

(D) sm W T it @i

I&Thﬁ median marks from the following cumulative
frequency curve is - .

mﬂﬁhﬁémﬁnﬁlmﬁiﬁ%- \
@ 50
8 E 40 }------=-"= :
S % 30-4: .......... :
“5‘ 20 {-- === :
2% 10 - ||} |
: 0 =0 20 30 40 50 60
Marks / W<i® —>
© 25 (D) 35

11

dispersion of white light by prism?

(A) Green (B) Red

(C) Violet (D) Blue ’
Rrow g T¥E Wy & fAR9 ¥y & B @
aftrarem faafaa dar 37 : _
(B) ¥«

(A) &T
(D) e

(C)

5 Which is not a funciton of the Bureau of Public
" Enterprises of Rajasthan?

(A) To coordinate working of various state
enterprises.

(B) To serve as a clearing house for the collection
of information for all state public sector
undertakings. :

(C) To issue guidelines to private enterprises in
Rajasthan.

(D) To monitor the functioning of all state public
sector undertakings.

TR & Qraih SUhH ST B S 1 Y T8l ¢ 7

W) T % fafv= SumHl & sedgomen § @9Ed
S ;

XB) T & W wrde & F swml % R ge
THA T TG TN o wE F4q S

\(C) e ¥ Pl sumAl &t Rsn—frder 3

(D) &t GidwfTG & B SUHA & Bl b P

ST

Who among the following participants stood first
runner up in Femina Miss India 2022 Competition?
(A) Seeni Shetty (B) Rubal Shekhawat
(C) Kanika Singh (D) Yamika Sain

S Rrg zfiegr 2022 wiedifn & Freafafea & @

@ &y w& T o w@?
(A) R 9 (B) ®=a Srarad
©) =hma fis (D) aiftrar &
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\1073 Which of the
Rajasthapo

\98 Neha walked 5 km towards west from her school.

’

,l’?
?g ;‘
L3

N9 The value of 772641 is -

: \140 'Indira Gandhi Urban Employment Guarantee

f0||0wing is latitudinal extension of

Eg; igo gg: North ang 30° 21' North
©) 230 03 South and 30° 12' South
(D) 23° o North and 30° l2: North
Bt % 4 a?F‘North and 30° lZ.SOUth
?7\ | Tt @ oveisha fora ¥ 7
) 23° 30" 5wy g 300 21' TR
(B) 23° 30" aftor g 300 12' 2
(C) 230 g3 I wE 30° 12' I
. (D) 23° 03' ge g 30° 12 hewr

The'_‘ She tumed to the right and walked 4 km.
Again she turned right and walked 5 km. In which
¢ direction she s going?
(A) East (B) West
(C) North (D) South
&1 o frerery & wiaw @ o S Redh T 31w
TE T AT et 4 B wwd ¥ g T A
TEHT 5 et aecht &1 95 foow faam § o @ X7
™) (B) it
(C) wux (D) =f¥or

J772641 W AR ¥ -

 (A) 891

- ~C) 879

(B) 889
(D) 871

Scheme' of Rajasthan was launched on -
(A) 8™ November, 2022

(B) 18" November, 2022

(C) 15" August, 2022

(D) 9'h September, 2022

o™ & g e gl Tt M Qe &
U % fomar T ?
(A) 8 7a=T, 2022 @t
(B) 18 wawy, 2022 &
(C) 15 3w, 2022 &
(D) 9 faawg, 2022 @

‘l{Z Which of the following is India’s

first privately

developed Rocket?

(A) -Vikram-S
o) PSLv.G
¢F) PSLV-XL
ofP) Vikrant-S

Yy P @ aa
The &7

Q) faww - ww
OB) dreguedr -

(©) e — e
D) fewpia - wa
O
“QWIIiCh is the famous dance
W ®harana?
("A) Kathak (B) Kathakali
ONC) Odisi (D) Bharatnatyam
ONragt o &1 wfrg 50 &9 @1 &7

o‘(’g) T (B) ®usmel
NSRS

g Frelt & 2T

form of the Jaipur

(D) w{a-reaH

\Lk\(_‘;?ll in the blank with appropriate determiner from

e options given below :
pen will do.
) Much
(C) Many

(B) Enough
(D) Any

f¢WVho was declared the Indian Film Personality of
ote year at IFFI (International Film Festival of

dia) 2022 held at Goa?
) Prasoon Joshi (B) Manoj Bajpai
) Hema Malini (D) Chiranjeevi

H I U0, . (SR SRR D |
wAIIE) 2022 ¥ Rl ad @1 sl Reew e

fopan man ? :
\HA) TG Sl (B) &t arorirdy
¢S§C) & e

(D) frcshrdy
m A

16YWorld's largest museum of Harappan culture is
eing setup in - '

C\A) Banwali (B) Rakhigarhi

111 If 10827x‘."%, then x is equal to - (C) Lothal (D) Kalibanga
, W A A faga & ey gey e
q‘&logz—,x:%,?ﬁxm%— T ¥ - _ . wH
(A) 9 B) 27 (A) T ¥ (B) Trdrmdy &
© (D) 3 (C) wew A ) T §
HVS2 ] O 12 [ Contd
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1% Which of the following igneous rockg are found

What number must be added to each term of thqe

}is

2?) Jalg;ﬁ)m ratio 4 : 5 so that it may become equal to 5 * ¢’
(ii) Granite ) ST 4 3 5 % YOS UK A I W v Wy A0
(iii) Rhyolite g% 39| 5: 6 B FUNL & W ?
(iv) Basalt (A) 3 » 4. ®) 4
(A) (i) and (iv)  (B) (i) and (iv) © 15" ®:2
(C) (i) and (ii) (D) (ii) and (i &
fererife ¥ & 1= € T TE W ¥ g SR \K‘t A pair of genes with contrasting characters is
(i) s No termed as :
(i) ¥ o) (A) Heterozygote ~ (B) Allele
(i) TAETEe LD (C) Homozygote (D) Genotype

{ (iv) S\ ™ ﬁwﬁaawﬁaﬁﬁhﬂﬁﬁ’l’%aﬁm%:

| A @iFar B had N (A) fawmgras (B) ¥

‘ ©) =@y (D) Giya i)y N (C) w9gmw (D) 9= wrew

11& Whif:h one of the following Samskaras is (qh’ted hé The monthly incomes of A and B are in the ratio
to birth? 4: 3. Each of them saves T 600. If the ratio of .
(A) Sa}melq (B) Jadula their expenditures is 3 : 2, then the monthly income
©) l_3|ndoh - (D) Mo_sar of B is - : a?
x%ﬁ—mm?w%? ,AawBﬁmmﬁ4:3we{m%laﬁfﬁ‘
() Ride ED))N%( ¥ s T 600 aarar ¥ 1 afk I & el T g B
mgqm3:2€r,a¥8a%mﬁfaimmz‘ﬂﬁ-

118 The birth place of Gogaji is

35963 223596

(A) Dadrewa (B) Mallani
(C) Kolu (D) Kolayat
el @ W o #

(A) @1 (B) HTeAMI
(C) @i (D) Hiwmad

!

S
7

1 Under MNREGA, minimum
mployment is provided.

) 3,600
(D) ¥ 2,000

(A) T 1,800
e (C) T 2400

\i\ﬁ T g/ @1 wd afu-fede ¥ -
(A) &F+ QU (B) &+ T
(C) & +quor (D) 7 +qw9

127 In which city, ‘Invest Rajasthan Summit’ was
organised from 7-8 October 20227

HLT & Stetd A e @t TreTIT :

wer fran war #1 ) (A) Jaipur (B) Kota

(A) 130 (B) 150 O (C) Jodhpur (D) Bikaner ,

(C) 100 (D) 120 N . 7-8 araga 2022 & fpg ey ¥ ‘TR T wfire’

M & o femar T ? ‘
124 The third highest peak of the Himalayas im (A) s (B) @
A) Nanga Parbat (B) Nanda Devi

EC)) Makalu (D) Dhaulagiri S (C) Wy (D) d@r

fomera 1 dre wairm e @t - N -

(A) =m gad (By a1 Gl 128 The area of an equilateral triangle is 25J§ cm?,

‘ (C) waT (D) oy 8 then its perimeter is -

123\ Where is factory of f’arle Biscuits locat3a in (A) 5043 cm (B) 60 cm

Rajasthan? L0 (C) 30 cm (D) 50 cm

(A) Neemrana (B) Jaipur ™M % gHeTg BYE & &9%a 2543 a2 ¥, 99 T

'(C) Bhilwara (D) Bharatpur  (\] o

T & e faRae B FE Rad 7

(A) T (B) s@q (A) 5043 & (B) 60 @&

(C) rerarst (D) W@yt (C) 30 & (D) 50 &

Hvs2 ]

13

[ Contd...



in the
(A) Go awarij = (B) Brahmaputra
g) Ganga (D) Indus
IR O I
qRumy
(A) T . (B) WG
(€) i (D) fiyg

1{0 Who was the
-Commission?

(A) Fazal A} (B) V. Patel
(©) H. Kunzry (D) K. Panikkar
T G w3 orems 49 47

(A) &= arehy (B) @ ww
©) . g=w - (D) %. siaT

\Q‘Mahi Kanchan’ and ‘Mahi Dhaval’ are the

varieties of which crop?

(A) Maize (B) Gram
(C) Bajra (D) Jowar
TE BT ot WY www Ry waw @) Reer ¥7
A) T (B) wn
(C) = (D) s

132 If cose=%, then tan@ =2

afx cos6=-z-,a’f tan @ = 2

b

a
(A) ha_.2 (B). b2 _ 2

/. /2 z -
(C)# . (D) NbT-a®

b

N33 Which of the following factors is not responsible

for governing the climate of Rajasthan?
(A) Prevailing winds

(B) Rainfall being fairly uniform
(C) Temperature

(D) Distance from Sea

Preifea & @ @ @ arw ToEE @
Preifa ot & fog worerdt =6 &7
(A) wafeaa g

(B) aul & w9 fyaor

(C) dmw=

(D) w# & gl

uvs2]

chairman of State Reorganization

vl

ey B

ﬂ\'\‘

L]

1

14

-

T
/s |

<\ o/"%

w A sum of money double

s itself at compoung

4 any years will j
interest in 15 years. In how ™ 4

* become eight times? '
@mvﬁmw;-;mﬁﬁaﬁfmﬁmt
Rt st 4 a5 g A @

(A) 60 - ® 7

(©) 30 (D) 45

W3S Yovargs’ gdem & -

(A) B (B) ¥
(C) P ()

}35 Under whose chairmanship was the Mewa

Prajamandal founded in 1938? ‘ }
(A) Jamnalal Bajaj 1'
(B) Balwant Singh Mehta |
(C) Nayanu Ram Sharma |
(D) Kapurchand Patni .
WIS YOHUEH & wrqeT Reua oregEar ¥ 1938
g

(A) ST TSI “
(B) wor=a fie dear » ;
(C) @™ smt |
(D) FqXHT ure

31\The time it takes a device to locate data an

v

\\13{ If in a code language CREW

instructions and make them available to CPU i
known as : |

(A) Access time (B) Processing cycle

(C) Data speed (D) Clock speed
m%aehtmmlhﬁrq. B IuT HE

# T WY BE ¥

(A) TRE zgw (B) R wm (cycle)

(C) %=« (D) wi® W

de la IS written ag 96 anc
COURT is written as 154, th

en how will C
be written in that language? RATE

qhqmqg‘eﬁmﬁ'CREWﬁ%ﬁmm
coURTﬁIS4ﬁr@m%,?ﬁ3€rwﬁ‘ C:A?:
@ oo wAR foran st 2 |
(A) 94 ®) o8 :
©) 47 (D) 90 . |
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139

1

The difference between Sugar mole
and RNA is - Cules of DNA

(A) absence of mtrogen at 3-C

(B) presence of nitrogen at 2.C

(C) absence of oxygen at 2-C

(D) presence of oxygen at 3-C

AT AN ST F

(A) 3-C U TRIE HN amrg \“‘ﬂﬂamt-
(B) 2-C 9T gz & Iuftafy

(C) 2-C 9T NN & g

(D) 3-C 9T Aiade & Iuikafy

The chairman or the member of Rajasthan Public
Service Commission can be removed earlier before
the completion of their tenure by -

(A) State Legislature (B) Chief Minister
(C) Governor (D) President
TR T HaT ST & HeAE q7 G B B
@ g -qd Rhad @ sern o wwar 27
(A) Fam s g (B) & W& @
(©) auwm gw (D) usufy g

14t Falku Bai of Kishangarh is associated with whnch

142

BLY

nvs2] )

dance form ?

(A) Kalbeliya (B) Chari

(C) Chakri Dance (D) Terahtali
e & wog @S few @ A wElm ¥ 2
(A) weafaar (B) T

(C) a0 A (D) @A

Structure of Xe F" ion is —
(A) octahedral

(B) pentagonal

(C) trigonal bipyramidal
(D) square pyramidal

XeFy' omad & ¥a ¥ -
(A) ACHART

(B) duerfm

(C) Pt Rt
(D) =1 fithdm -

Translate the following sentence into Hindi :
Women learn English faster than men.

(A) e Hr o % s o) s W T
(B) Towi @ wfvenel & Ted oilieh e =Tl
(C) gow ofral & oIt affiohl dEd |

(D) mmamwmmm

\1{9

150

15

Diamond is a -

(A) Isotope of carbon
(B) Isochore of carbon
(C) Allotrope of carbon
(D) Isomer of carbon
e ¥ -

(A) & &1 guetiS
(B) e H gHIATAATD
(C) &€ &1 HUEA

(D) &EF B gHTEEEl

with which folk art is Jankilal associated?
(A) Tamasha (B) Baharupiya
(C) Nautanki (D) Phad K
FAErAT fhe dw-sar & gaitud 2

(A) T (B) wweftrn

(C) et (D) w3

Example of logical operators is :
wRTehe STIH B SAETT &
(B) XOR

A) if

© > (D) +
B IR JE &Y

(A) T YB) shawf
(C) vard (D) Hag

The range from the following, belongmg to the
lesser Himalayas, is -

(A) Mahabharat (B) Given all.

(C) Pir Panjal (D) Dhauladhar
Frafafaa & & Frea-femeg & sl e ¥ -
(A) we™RE (B) @ m a+ ‘
(C) 9 Y= (D) demmx

Geo-stationary satellite revolves at

(A) Any height above the poles =
(B) Height which depends upon its mass
(C) Any height

(D) Fixed height .

-Rat Iuue gwar ¥ -

(A) gaf & s el $a «

(B) Surg & wamm wX Pk &

(C) Tedt W S wx

(D) Rax &= @
Rheumatoid arthritis is a/an disease.
(A) bacterial (B) fungal
(C) autoimmune (D) hypersensitive
s el @ T F)
(A) stafas (B) wasig
(©) wwfaing (D) sifgEady
" [ Contd...



